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Timbro Federal LD18-74HN FINAL 5" MD

(Scale: 5":100' (10Y)
Company: NOBLE ENERGY INC State: COLORADO
Well: TIMBRO FEDERAL LD18-74HN County: WELD
Field: WILDCAT Country: USA
Well ID: 05-123-36263
Job Number: RM-13139
Location: LAT: 40° 44' 40.121 N / LONG: 103° 54' 15.020 W Elev KB: 4917
Operator 1: CHRIS ABBOTT Elev DF: 30
Operator 2: TROY MARDESEN Elev GL: 4887
Comment 1:
Comment 2:
Comment 3:
Comment 4:
Comment 5:
Hole Data Casing Record
Size From To Size From To
13 3/4" o' 899’ 95/8" o' 892'
8 3/4" 899’ 6,365’ 7 892' 6,355’
6 1/8" 6,365’ 10,271'
Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5
Tool SIN 150 150 150
Cal Factor 3.994 3.994 2.319
Gamma Offset 36 36 41
Start Depth 899’ 5,161 6,365’
Start Date 2/21/2013 2/23/2013 2/25/2013
Start Time 22:00 02:00 01:30
End Depth 5,161 6,365' 10,271'
End Date 2/22/2103 2/23/2013 2/26/2013
End Time 15:00 14:00 18:00
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Timbro Federal LD18-74HN FINAL 1" MD °
- o
(Scale: 1":100' (100Y) m >
~ 2
Company: NOBLE ENERGY INC State: COLORADO B M
< )
Well: TIMBRO FEDERAL LD18-74HN County: WELD M m
Field: WILDCAT Country: USA ° 2
Well ID: 05-123-36263 m m
Job Number: RM-13139 e 5
d n
. n
Location: LAT: 40° 44' 40.121 N/ LONG: 103° 54' 15.020 W Elev KB: 4917 % m
. [a) o
Operator 1: CHRIS ABBOTT Elev DF: 30 = s
Operator 2: TROY MARDESEN Elev GL: 4887 h . me -
= W 1
Comment 1: % %
-
Comment 2:
Comment 3:
—
Comment 4: |M
Comment 5: S
T H -
Hole Data Casing Record W i
Size From To Size From To o
13 3/4" 0 899’ 9 5/8" 0 892' m
8 3/4" 899’ 6,365' 7" 892' 6,355
6 1/8" 6,365 10,271 €. 8 7 7 7 | 7
S [0 [ Yl 1)
<z l
28 & 2 = 2
[ ) =) — I3
[a)] 5 o)} — — —
Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5
B8
Tool S/N 150 150 150 03
Cal Factor 3.994 3.994 2.319
—
Gamma Offset 36 36 41 w
©
Start Depth 899’ 5,161' 6,365' =
Start Date 2/21/2013 2/23/2013 2/25/2013 W m
Start Time 22:00 02:00 01:30 m
End Depth 5,161' 6,365' 10,271 m
End Date 2/22/2103 2/23/2013 2/26/2013 m
End Time 15:00 14:00 18:00 %
o«
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#71 MD:7998.0 TVD:5965.8 1:89.6 A:0.0 VS:2143.7

#72 MD:8093.0 TVD:5966.7 1:89.3 A:0.0 VS:2238.5

#73 MD:8188.0 TVD:5967.1 1:90.2 A:359.6 VS:2333.3

#74 MD:8283.0 TVD:5967.0 1:89.9 A:359.4 VS:2428.2

#75 MD:8378.0 TVD:5967.4 1:89.7 A:359.6 VS:2523.0

#76 MD:8473.0 TVD:5967.7 1:89.9 A:358.5 VS:2617.9

#77 MD:8567.0 TVD:5967.9 1:89.9 A:357.0 VS:2711.9

#78 MD:8662.0 TVD:5967.4 1:90.7 A:359.3 VS:2806.8

#79 MD:8757.0 TVD:5967.0 1:89.8 A:359.6 VS:2901.6

#80 MD:8852.0 TVD:5967.3 1:89.8 A:357.5 VS:2996.6
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#81 MD:8947.0 TVD:5968.4 1:88.9 A:1.2 VS:3091.4

#82 MD:9042.0 TVD:5969.4 1:89.8 A:0.3 VS:3186.1

#83 MD:9137.0 TVD:5970.3 1:89.2 A:358.7 VS:3280.9

#84 MD:9232.0 TVD:5971.4 1:89.5 A:358.9 VS:3375.8

#85 MD:9327.0 TVD:5972.2 1:89.5 A:358.9 VS:3470.7

#86 MD:9422.0 TVD:5973.3 1:89.1 A:358.5 VS:3565.6

#87 MD:9517.0 TVD:5974.6 1:89.4 A:356.3 VS:3660.6

#88 MD:9612.0 TVD:5975.6 1:89.4 A:354.5 VS:3755.6

#89 MD:9707.0 TVD:5976.1 1:90.0 A:357.3 VS:3850.6

#90 MD:9802.0 TVD:5974.9 1:91.4 A:2.9 VS:3945.3

#91 MD:9896.0 TVD:5972.4 1:91.7 A:2.2 VS:4038.7

#92 MD:9991.0 TVD:5970.6 1:90.4 A:2.4 VS:4133.2
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#93 MD:10086.0 TVD:5970.1 1:90.2 A:1.5 VS:4227.7
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#94 MD:10181.0 TVD:5969.2 1:90.9 A:2.6 VS:4322.2

#95 MD:10224.0 TVD:5968.4 1:91.2 A:3.3 VS:4364.9
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